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Find the length of the remaining sides and the size of the angle of AABC.
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Bl a=2, b=1+V3, C=60
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+ b2 —2 abcosC

=274 (743 ) =2 x 2 x (145 ) x cos 60

=44 4+2V3 —2 —2V3 =4
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c>0 Xk ¢ =Vvs
B A ’(\L\ U}
h- %0
s R= ¢ - Vb
sin C siné0
V3
= Vbe =22
snA——9¢ 2 T
2 R 22 V72
R B /Sa’(é
YoT A=45 (A=735 ax@)
B=780" —60 —45 =75
c=vs |, A=u4s | B=75
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Find the size of the largest angle of triangle AABC.
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TN FA T Y

iz xR LY

. a . b . ¢
smA——p2 R smB——p2 R sin C = R
J:/D/Cy

sinA:sinB:sinC=a:b:c=7:8:73
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a=7k, b=¢ k, c=7/3k
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Find the length of the remaining sides and the size of the angle of AABC.
v En < 3%) %) 75)0
{@J% a=2, b :\/3__ 1, C= 120° What kind of triangle is AABC when the following equation holds true?
L FA T b FOLAN S
F5E IR LY 15 #A sin A = 2 sin B X cos C
2= q? 2 — EN A T D
¢’=al Hb7 —ZabeosC E%EAL) sind= —p, sinB:—sz
=224 (V3—7)2—2 x2 x(vV3—7 ) x cos 60°
E FATY Y 2 2— el
=4+4—2V3 —2 +2V3 =4 4#FRL) cos C = %
—/ Foice )
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— 2 R 2 R 2 ab
2 R = .c = - el S woxzu
sin C siné0 MW 2 aR %ﬁkwék
_ \/é_; \/§ :2\/2— a? =a’? + b?—c?
! pric bl= 2
A a 2 7 AABC b 4 aawué/umﬁ;m\ 5
sin A = = = Bb=—cn=FR=AF TbhH?,
2 R V2 V2 2
R R b TE bW . .
IoT A=45 (A =735 137 ) HEO bsinB= csinC
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Find the length of the remaining sides and the size of the angle of AABC.

o
B a=2, b=1+v3, C=30
ih“/u'(\L\VJ
455 X2 LY
c’=a? + b2 —2 abcosC
=274 (743 ) =2 x 2 x (145 ) x cos 30

=44 4+2V3 —2 V3—4 =2

c>0 Xk ¢ =v2
B A ’(\L\ U}
h- %0
g R= —¢ - VI
sin C sin 30
= V2= %:2%2
sin A = —2—— |
2 R 22 V2
R EXAYA R /Sa'(?
kot A=45 BraiInA=/3531#E)
B=7¢00 —30° —45 =705
c=v2 , A=45 , B=/05
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Find the size of the largest angle of triangle AABC.
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smA——p2 R smB——p2 R sin C = R
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sinA:sinB:sinC=a:b:c=/:2:V7
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a=k, b=2k, c=V7k
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Find the length of the remaining sides and the size of the angle of AABC.
nwrEn
Bl a=17, b=8, A=60
& AT Y
4 xIRE) a’=b’+ ¢! —2 bcceos A
7P=§+ 2 —2 x § XX 5
¢ —¢ c+75=0
(¢ —3)(ec—5)=0 1 e¢= 3,5
LA .
HE a=2, b=2+3 , A= 30
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Find the following triangle shape.
nw e

BIE a2 —b2=¢c2+bec
a‘l— bi=¢c? +bec IV

a’—b? —c¢? =be

A ERL) al= b2t 2 —2 becosA 1Y)
a?— b?—¢? =—2 bccos A --®

@O, @%&» bec=—2bccosA
cosA:~%ot N, A=720"

F'JE@ a?—b2=c2—bec
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Find the length of the remaining sides and the size of the angle of AABC.

L
B b=v2, A=45 , C= 105
B=r¢0"—( 45 +705") = 30°
B A ’(\L\ U}
h-
b N2 =T
2R = sin B sin 30 =V2 - 2 22
a=2Rsin A —2x/2_><% 2

L FA T b
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P (\/5)24_ c?2— 2% V2 X¢x cos 45

al=b2+¢c?2 —2 beccos A

ct—2 ¢c—2=0

vV (= 2) = uxix(—2)
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+
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2
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Yot, a=2 ., c=V3+7 ., B=30"
bATE WD B B
M b=v6, A=45 , C="15
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Flnd the radius r of the inscribed circle of AABC.
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HlE b=7, c=8, A=120

a’? =b’+c? —2 bccos A
2 2 7
= 7 +5’~2X7X5>X(~2)
= Y9+ 64+ 56=769

a>0 XY a=+/69 =73
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AABC o @4 S 3

_ I : _ I V3
S = B becsin A = 7 X7 %X & X >
= /43
RWEDO A ¥ AR U}

REBEROFZET#H AT5HL

S=—t(atbte)r= "L (r3tr+te)r

4 r

Fo, T4 r =743 b7
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MEMOEEr =13
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c=6, A= 120
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Find the area S of [JABCD inscribed in the circle.

D Zh Vg
i AB=8 BC=3,CD=5,DA=30DHIcHN#
Lo Wt E

b
T 5 MA ABCD O mifE S & R X,
Al Vg L oidw JAY/ e

AR BET20 A L0 A DR E/E0 Thoms
cos C = cos (760" — A) = — cos A
JF ATy

AABD k%%z,aﬁ%)ﬂmf,
BD? = AB‘+ AD?—2 x AB x AD X cos A

7 +37—2 x§ x3 XcosA
73—48 cos A
T A ’C\LwVJ bHH
ABCD (c&zz 2RV,
BD? = BC’+ CD?’—2 x BC x CD x cos C
=37 +57—2 x3 x5 xcos C
=34—30 cos C =34+30 cos A

73—48 cos A =34+4+30 cos A L") cos A =

.
2

LoT,A=60", C=/20

S = AABC + ABCD
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Flnd the radius r of the inscribed circle of AABC.

W a=10,b=17

, ¢c= 21
cos A — b’ + ¢’— a’ 1774 217 — 707
o 2bc 2 X777 %27
630 75
774 77
sin? A + cos? A=/ I
. /5 \2 64
2 — 7 2 7 _Y . _Y7
sin® A =/7/— cos® A =7 ( 77 ) = 770
. . B 64 ¢
sinAdA >0 kY sinA = 750 = 77
WAt E
AABC o @ 4% S 12
S= —Z-besind = - x/7x2/x — ¢4
2 77
BWEDZA YA b)
WH:H @#fir%ﬂﬁﬁﬁ‘ék
S=—(at+b+e)r
== (10417427 )r=24r
o, 24 r =84 1Y r:%:m
&wﬁ?ih XA F W
NEEARDFZE r=23.5
bAEW
HE a=7,b=15, ¢c= 20
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Find the area S of [JABCD inscribed in the circle.
neEn XA RVED
Bl AB = 8 BC = 2,CD = 6,DA = 2D M IZHN$#

L& ol b At E

42 00 % ABCD O i i S & Kk L.

Al Rt Lo JAY/ e

AR BET20 A L0 A DR E/E0 Thoms
cos C = cos (760" — A) = — cos A
F ATy bbH

AABD kf\%/ifﬁ%)ﬂb\f;
BD? = AB‘+ AD?—2 x AB x AD X cos A

= ¢ +27—2 x§ x2 xcos A
= 6§—32 cosA
TF ATy bHH

ABCD (c & 52 2% R T,
BD? = BC’+ CD’—2 xBC x CD X cos C
= 27 4672 x2 x6 xcos C
= 40—24 cos C = 40+ 24 cos A

68§ —32 cos A =40+24 cos A L") cos A=

-
2

fot, A=60, C=720

S = AABC + ABCD

I V3 A 3
== X & X 2 X B + 7 X 2 X6 X 2
= 74 V3
AW Zh &wﬁi
i AB=3,BC=3CD=4,DA=4DOMHIZHN#

+ 2 U % ABCD o [ ik S % K &
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Flnd the radius r of the inscribed circle of AABC. Find the edge AD of [JABCD inscribed in the circle.
av D av D Zh
Bl a=13,b=11, c¢= 20 #lE AB=1,BC =2, CD = 2, LB— 120°@Pﬂ’
gD L&oidwn
bt t—ar 1P 207 73 M3 % U T ABCD 03 AD % sk k.
cos A = =
2 bc 2 X 77 X 20 LFALTh b
- Al > \
352 p AABC o &5z 2 #Bx AW,
440 5 AC* = AB*+ BC’—2 x ABx BC X cos B

L2 24
sin® A + cos® A=/ I =77 427—2 x7 x2 Xcos /20

sin? A =/— cos? A =/ — (%)2: 295 /
=5 x (- )=
Sind >0 1rsinA = 4/ = —
" AC >0 k9 AC =7
NABC o @4 S & FATHY b
) . 3 AADC k%%z&i%%)ﬂmf,
S = TbcsinA: TX//X 20X T:éé

AC?’= AD’+ CD?—2 xAD x CD X cos D

RNEDZA FAadw v ko

RERADFZrz5 AT5L o 1270 xxX 2 Xcos 60"

S=—L(a+b+c)r )
= X4 xx—— =7
= (31420 ) r=22r
2 _ o o)
ko, 22 r=66k0 r=3 ¥ =2 x—3=(x+7)(x—3)=0
fﬁb\’t?i/u FAagw =—7, _ AD _
MEMOFE r=3 x==0h3 x> 08) o« 3
bATEn baEn ., Zh
| a=7,b=24, c=25 5 AB=3BC=8CD=3 ZB=60 O
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Flnd the radius r of the inscribed circle of AABC. Find the diagonal BD of [JABCD inscribed in the circle.
e E e E 2 A
Bl a=17,b=10, ¢=9 Bl  AB = 2, BC—3CD:2DA—2@PH’
gD L &oidn
b+ cr—ar 10P49P 17 M2 5 I £ % ABCD 03 BD % sk k.
cos A = =
2 bc 2 X 70 X9 EH ATy b
CHEZEE T,
—0¢ 3 AABD ¢ —]’—‘%j{ E%)ﬁbf
780 5 BD? = AB*+ DA’—2 x AB x DA x cos A
sin? A + cos” A =7 LV = 27 +3°—2 x2 x3 xcosA
sin? A =7— cos? A =/— (~—§ )2: —22 = 3 2 xeos 4
L AT bh
= ABCD (c &z 2 2% R T,
v BD“= BC“+ CD“—2 x BC x CD % cos C
W ot 92 2
NABCo@m#E S & = 2° +2°—2 x2 x2 Xcos C
/ . / 4 =§—§ cos C
S= —S-bcsinA=—x/0 X 9 X =36
2 2 5 L < A RvEo
BV EAFW I waAaH ABCD 3 HwREL, A+ C =780

NEMoFErefl AT5HE
cos C = cos( /£#0°— A)= — cos A

S = (a+b+c)r

2 /3—72 cosA =§§—6 cos C=8§+§ cosA
= (rtr0t9)r=rsr
/
X 57T, cosA = T

Lo, 78 r = 361 r=2

BOEDZ A ATV B])2 =/3—72 X
RBRDOFZ 1 =2

=70 , BD=+/70

bW HATEL Zh
M a=120,b=13, c¢c=11 FLFJE AB = 3, BC CD—ZDA—SODPH’

D Lo 2]

W9 25 % ABCD 03 J AD %?k&’)ot
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